Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-NONCOLLEGIATE / MO/20 / 2020-2021

By the order of Examination committee, the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSIO	ON : 2020-2021 CLASS : 1	E-CS		В	RANCH	: ENGIN	NEERING					SEM	ESTER / T	RIMESTE	R : NO	ONCOLLE	SIATE			MONTH OF EX	KAM : O	CT-2020
ROLL NO	NAME	U L		2201(4) 5101(4)		109(4) 101(3)		201(4) 4109(3)		201(4) 103(4)	MA1	201(4)	CH2	203(3)	EE2	201(4)	CS6	105(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6029/16	NITISH KUMAR NAYAK	U	С	20.0	C	20.0	С	20.0	С	20.0	С	20.0	C	15.0	С	20.0	-	-	135.0	27.0	5.00	
BE/0029/10	NITISH KUWAK NATAK	L		-	-	-	-	-	-	-	-	-	-	-	-	-	-		133.0	27.0	5.00	_
BE/6041/16	Shweta Ranjan	U	С	20.0	-	-	-	-	-	-	C	20.0	-	-	-	-	-	-	40.0	8.0	5.00	
BE/0041/10	Silweta Kanjan	L	-		-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	5.00	_
BE/6067/16	Chuldren Dede-d	U	С	20.0	С	20.0	-	-	-	-	-	-	-	-	-	-	С	15.0	125.0	25.0	5.00	
BE/006//16	Shubham Prakash	L	С	20.0	С	15.0	С	15.0	С	20.0	-	-	-	-	-	-	-	-	125.0	23.0	3.00	-

MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	CS5101(4)	: FORMAL LANGUAGE & AUTOMATA THEORY	
CS4109(4)	: COMPUTER SYSTEM ARCHITECTURE	CS7101(3)	: PRINCIPLES OF PROGRAMMING LANGUAGES	
EC3201(4)	: DIGITAL ELECTRONICS	MA4109(3)	: PROBABILITY STATISTICS &NUMERICAL TECHNIQUES	1
AM1201(4)	: ENGINEERING MECHANICS	CS6103(4)	: SYSTEM PROGRAMMING	Lawdey.
MA1201(4)	: ENGINEERING MATHEMATICS	-	:	
CH2203(3)	: ENVIRONMENTAL SCIENCE	-	:	Controller of Examinations
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	-	:	
CS6105(3)	: COMPILER DESIGN	-		

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-NONCOLLEGIATE / MO/20 / 2020-2021

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

	020-2021 CLASS : BE-EC			BRAN	CH : E	NGINEERI	NG					SEM	/IESTER	/ TRIME	STER :	NON	OLLEGI	ATE		MONTH O	FEXAM :	OCT-2020
ROLL NO	NAME	U L	MA2	2201(4)	EC62	205(3)	EC3	205(3)	-		-			- -					TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DE/(146/16 G1	1	U	С	20.0	С	15.0	С	15.0	-	- 1	-	-	-	1 - 1	-	-	-	-	50.0	10.0	5.00	
BE/6146/16 Shya	/am sundar	L	-	-	- '	-	<u> </u>	-	-	-	-	-	-	- 1	-	-	-	-	50.0	10.0	5.00	-

MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	-	:
EC6205(3)	: COMPUTER NETWORKING	-	:
EC3205(3)	: SEMICONDUCTOR DEVICES	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / MO/20 / 2020-2021

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSIO	N : 2020-2021	CLASS : BE-EE		Bl	RANCH	: ENGIN	EERING					SE	MESTER	/TRIMES	ΓER :	NONCOLI	LEGIATE			MONTH OF EX	XAM : C	CT-2020
ROLL NO	NAME	U	1	2201(4) 203(3)		211(3) 201(3)		207(3) 203(3)		201(3) 203(3)		5009(3) 1201(4)		205(4)		201(3) 207(3)		001(3) 001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6017/16	PRANAV SINGH MUNDA	U	С	20.0	C	15.0	С	15.0	С	15.0	С	15.0	С	20.0	С	15.0	C	15.0	145.0	29.0	5.00	_
BE/0017/10	TRAININ SINGII MONDA	L	С	15.0	-	-	- 1			-	-	<u> </u>		-	-		-	-	143.0	25.0	5.00	
BE/6036/16	Sweta Bhartiya	U	С	20.0	-	-	-	-		-	-		-	-	-			-	20.0	4.0	5.00	_
BE/0030/10	Swetti Bhartiya	L	<u> </u>		-	-	-	-	- 1	-	-	<u> </u>	_	-	-		-	-	20.0	4.0	3.00	
BE/6043/16	ARIHANT AKSHAY	U	С	20.0	-	-	-	-	-	-	-	-	-	-	С	15.0	-	-	150.0	30.0	5.00	_
BE/0043/10	ARCHITECT ARCHITE	L	<u> </u>	-	С	15.0	C	15.0	С	15.0	С	20.0	C	20.0	C	15.0	C	15.0	150.0	30.0	3.00	
BE/6134/16	Kriti	U	<u> </u>	-	-	-	-	-		-	-	<u> </u>	-	-	-		-	-	20.0	4.0	5.00	_
BE/0154/10	Kild	L	<u> </u>	-	-	-	-	-	-	-	С	20.0	-	-	-		-	-	20.0	4.0	5.00	
BE/6143/16	Arundhati Kumari	U	С	20.0	-	-	-	-		-	-	<u> </u>	-	-	-		-	-	150.0	30.0	5.00	_
BE/01/3/10	Transmir Teaman	L	С	15.0	С	15.0	C	15.0	С	15.0	С	20.0	С	20.0	С	15.0	С	15.0	130.0	30.0	5.00	
BE/6160/16	Vikash Ranjan	U	С	20.0						-	-	<u> </u>	-	-	-		-	-	40.0	8.0	5.00	_
BE:0100/10	· intuiti realition	L	<u> </u>	-	-	-	-	-	-]	-	-		C	20.0	-	-	-	-	13.0	5.0	3.00	
BE/6174/16	Manish Kumar	U	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
		L	1 -	-	-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	-510		2.00	

MA2201(4) EE7211(3) EE3207(3) EE4201(3) PE6009(3) EE6205(4) EE3201(3) ME2001(3)	: ADVANCED ENGINEERING MATHEMATICS : COMPUTER AIDED POWER SYSTEM ANALYSIS : ELECTRICAL ENERGY GENERATION & CONTROL : ELECTRICAL MEASUREMENT & INSTRUMENTATION : ENGINEERING ECONOMY : INDUSTRIAL DRIVES & CONTROL : INTRODUCTION TO SYSTEM THEORY : PRINCIPLES OF MECHANICAL ENGINEERING	EE7203(3) EE6201(3) EE6203(3) EE5203(3) MA1201(4) AM1201(4) EE5207(3) EC2001(3)	: SWITCHGEAR & PROTECTION : CONTROL THEORY : ELECTRICAL MACHINE I : ELECTRICAL MACHINES - II : ENGINEERING MATHEMATICS : ENGINEERING MECHANICS : POWER SYSTEM - I PRINCIPLES OF ELECTRONICS ENGINEERING
			Di-d-i

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / MO/20 / 2020-2021

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

	SESSION	N : 2020-2021 CLASS : BE-	EE		Bl	RANCH	: ENGIN	EERING					SE	MESTER /	TRIMEST	ΓER : N	NONCOLI	EGIATE			MONTH OF EX	XAM : O	CT-2020
	ROLL NO	NAME	U L	MA22 EE72	. ,		201(4) 201(3)	EE32 EE42	` ′	EE420 EE520	` ′	PE60 MA12	` '	EE620 AM12	. ,	EE32 EE52	` '		2001(3) 001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BE/6170/16	KAMAL KUMAR TUDU tl	U	-	-	С	20.0	_		-	-	-	-	-	-	-	-	-	-	35.0	7.0	5.00	
IL	DL/01/0/10	RAWAL ROMAN TODO (I	L	-	-		-	-		-	-	-	-	-	-	-	-	C	15.0	55.0	7.0	5.00	_

MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	EE7203(3)	: SWITCHGEAR & PROTECTION
PH1201(4)	: PHYSICS	EE6201(3)	: CONTROL THEORY
EE3207(3)	: ELECTRICAL ENERGY GENERATION & CONTROL	EE4203(3)	: ELECTRICAL MACHINE I
EE4201(3)	: ELECTRICAL MEASUREMENT & INSTRUMENTATION	EE5203(3)	: ELECTRICAL MACHINES – II
PE6009(3)	: ENGINEERING ECONOMY	MA1201(4)	: ENGINEERING MATHEMATICS
EE6205(4)	: INDUSTRIAL DRIVES & CONTROL	AM1201(4)	: ENGINEERING MECHANICS
EE3201(3)	: INTRODUCTION TO SYSTEM THEORY	EE5207(3)	: POWER SYSTEM – I
ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING	EC2001(3)	PRINCIPLES OF ELECTRONICS ENGINEERING

Disclaimer

Reference: EXAM/JPP/BITIC/DEOGHAR/BE_IT-NONCOLLEGIATE/MO/20 / 2020-2021
By the order of Examination committee, the following is the result of BE_IT - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

	SESSION	N : 2020-2021 CLASS : BE_I	Γ		В	RANCH	: ENGIN	EERING					SI	EMESTEI	R / TRIMES	STER :	NONCOLL	EGIATE			MONTH OF EX	XAM : O	CT-2020
	ROLL NO	NAME	U L		025(4) 101(4)		201(4) 101(3))25(3) 1109(3)		127(3) 103(4)	PH1:	201(4)	CH1	401(3)	AM1	201(4)	MAI	201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
IL				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BE/6153/16	SHRESTH BARERIA	U	C	20.0	С	20.0	С	15.0	C	15.0	С	20.0	C	15.0	С	20.0	С	20.0	145.0	29.0	5.00	
	BE/0133/10	SHRESTH BAKERIA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	143.0	29.0	3.00	-

IT3025(4)	: COMPUTER ORGANIZATION AND ARCHITECTURE	CS5101(4)	: FORMAL LANGUAGE & AUTOMATA THEORY	
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	CS7101(3)	: PRINCIPLES OF PROGRAMMING LANGUAGES	
IT5025(3)	: PRINCIPLES OF SOFT COMPUTING	MA4109(3)	: PROBABILITY STATISTICS &NUMERICAL TECHNIQUES	A Acres
IT4027(3)	: SCIENTIFIC COMPUTING	CS6103(4)	: SYSTEM PROGRAMMING	Candey.
PH1201(4)	: PHYSICS	-	:	
CH1401(3)	: ENGINEERING CHEMISTRY	-	:	Controller of Examinations
AM1201(4)	: ENGINEERING MECHANICS	-	:	
MA1201(4)	: ENGINEERING MATHEMATICS	-		

Disclaimer

Reference: EXAM/JPP/BITIC/DEOGHAR/BE_IT-NONCOLLEGIATE/MO/20 / 2020-2021
By the order of Examination committee, the following is the result of BE_IT - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSIO	N : 2020-2021 CLASS : BE_I	T		E	BRANCH	: ENGI	NEERING	i				SE	MESTER	/TRIMES	TER : N	ONCOLLE	EGIATE			MONTH OF EX	XAM : O	CT-2020
ROLL NO	NAME	U L		023(3)		027(3) 101(3)		041(3) 4109(3)		021(3) 103(4)	EC2	001(3)	ME2	001(3)	AM120	01(4)	MA12	201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6088/16	VARUNESH KUMAR	U	C	15.0	С	15.0	С	15.0	C	15.0	С	15.0	С	15.0	-	-	-	-	90.0	18.0	5.00	
BE/0086/10	VARONESH KOMAK	L	-	-	-		-	-	-	-	-	-	-	-	-	-	-	-	90.0	18.0	5.00	-

IT4023(3) IT4027(3) IT7041(3) BT3021(3) EC2001(3) ME2001(3) AM1201(4) MA1201(4)	: OPERATING SYSTEM CONCEPTS : SCIENTIFIC COMPUTING : PARALLEL & DISTRIBUTED COMPUTING : BIOLOGICAL SCIENCE : PRINCIPLES OF ELECTRONICS ENGINEERING : PRINCIPLES OF MECHANICAL ENGINEERING : ENGINEERING MECHANICS - FNGINEERING MATHEMATICS	CS5101(4) CS7101(3) MA4109(3) CS6103(4)	: FORMAL LANGUAGE & AUTOMATA THEORY : PRINCIPLES OF PROGRAMMING LANGUAGES : PROBABILITY STATISTICS &NUMERICAL TECHNIQUES : SYSTEM PROGRAMMING : :	Controller of Examinations
--	---	--	---	----------------------------

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-NONCOLLEGIATE / MO/20 / 2020-2021

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION	N : 2020-2021 CLASS : BE-MI	СН			BRANC	H : EN	GINEERII	NG				SE	MESTER	/ TRIMEST	ER : N	NONCOLLI	GIATE			MONTH OF E	XAM : 0	OCT-2020
ROLL NO	NAME	U L	MA2	2201(4)	ME3	005(4)	HU4	001(3)	PE5	001(3)	ME4	003(4)	ME3	003(3)	EC20	001(3)			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.		,		
BE/6014/16	PRATIK KUMAR KUDADA	U	С	20.0	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	5.00	-
BE/0014/10		L	-	-	-	-		-	-	-	-	-	-	-	-	-		-				
BE/6137/16	Vicky sah	U	-	-	-	-	С	15.0	С	15.0	С	20.0	-	-	-	-	-	-	50.0	10.0	5.00	
BE/013//10	vicky san	L	-	-		-		-	-	-	-		-	-	-	-			30.0	10.0	3.00	-
DE/6171/16	WASIM KHAN	U	-	-	-	-	-	-	-	-	-	-	C	15.0	C	15.0	-	-	30.0	6.0	5.00	-
BE/6171/16		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				

MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	-	:
ME3005(4)	: MECHANICS OF SOLIDS	-	:
HU4001(3)	: FOREIGN LANGUAGE (FRENCH)	-	:
PE5001(3)	: MANUFACTURING PROCESS - II	-	:
ME4003(4)	: MECHANICS OF MATERIALS	-	:
ME3003(3)	: FLUID MECHANICS AND HYDRAULICS	-	:
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	-	:
_ ``			

Disclaimer

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-NONCOLLEGIATE / MO/20 / 2020-2021

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION: 2020-2021 CLASS: BE-MECH				BRANCH : ENGINEERING							SEMESTER / TRIMESTER : NONCOLLEGIATE									MONTH OF EXAM : OCT-2020		
ROLL NO	NAME	U L	PE5001(3) MA2201(4)		PE4001(3) CS7101(3)		EC2001(3) MA4109(3)		ME4005(3) CS6103(4)		ME5001(4)		AM1201(4)		ME4001(3)		MA1201(4)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6125/16	AMISH KUMAR	U	С	15.0	С	15.0	С	15.0	С	15.0	С	20.0	С	20.0	С	15.0	С	20.0	155.0	31.0	5.00	
BE/6125/16		L	C	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-			3.00	_

PE5001(3)	: MANUFACTURING PROCESS - II	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	
PE4001(3)	: MANUFACTURING PROCESS-I	CS7101(3)	: PRINCIPLES OF PROGRAMMING LANGUAGES	
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	MA4109(3)	: PROBABILITY STATISTICS &NUMERICAL TECHNIQUES	
ME4005(3)	: NON CONVENTIONAL ENERGY	CS6103(4)	: SYSTEM PROGRAMMING	Jan
ME5001(4)	: IC ENGINE & GAS TURBINE	-	:	7
AM1201(4)	: ENGINEERING MECHANICS	-	:	Controller of 1
ME4001(3)	: HEAT POWER CONVERSION	-	:	
MA1201(4)	: ENGINEERING MATHEMATICS	-		

Disclaimer